Theme 4
0 S

DNA AT %2

DNA Alhz £2

Schema 23
OJoHE DNA ATHE

[E2F %hk]

- “aM gloP =74

T

M o ZHo 2 HHM shAE = U0,
H ZAER I UEXE ARE 2 X ST

- CHEI R XX A0 A DNA MCHf 82 347+ = 4~ giCt
ED (A a)=(2, 1) or (4, 2) 27t
= (A 2)=(9, ©) & 920 = Ot © & stt= 00]C}.

- DNA Ao 2 7155t 457 5 35R7H SAIO LEfLIE Ho| M $#AH2 20|11
(0, 1, 2)7HSAloll LIEILH= 2] MZE 27, 2

(0, 2, 4)7} SAlofl LHEHt= O] M= 27, 40]Ch

=0, 0, © &N, g2

3

- SAHOIE H3IX| =CtEH S712] MZo|AM= 10| LIEHE =~ gln
A MIZO M= 27t LIEHS 4~ §iCH

-3ERVSEE U= ERY+= (0,1, 2), (0, 2, 4)7t RLSIT.

A
=T M

on
rr

- DNA dtige= 7i5et 457 & 2877t SAI0f| LIEILI= 82| 282 30| 7IS3ict

[0,1]:2n25%E=n,1
[0, 2]: n, 10| O}
[0,4]:21 4
[1,2]:2n, 2

[1,4]: 27t
[2,4]:2nm 4

- DNA 4thO= 7K55t 455 5 2537+ SA0| LIEILIS ol Z812 k20| 7ks3ict

0, 1) - A £

0,2 HZ 25

0, 4): S T US MI7| M=
0,0,0,1, (@227

~_~ o~ o~ o~

T2tM (A, a)2t 20| CHEIREX} 2 8ol AP EHE 39
JECE 2= DNA Ath2F2 00|t

Q4 TrEetd CI2_ orbikr



